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d"b|f Joj:yfkg ljefu
bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 4,386,518,840   1= ljb]zL d"b|f / ;]So"l/^L 355,250,876,000

2= rng rNtLdf /x]sf] gf]^ 350,864,357,160

hDdf lgisflzt gf]^ 355,250,876,000

hDdf bfloTj 355,250,876,000   hDdf ;DklQ 355,250,876,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 3,000,000,000   1  gf]^ 4,386,518,840
2 ;fwf/)f hu]*f sf]if 20,544,849,850   2  /]RsL -
3 df}lb|s bfloTj sf]if 2,950,753,898   3  ljb]zL d"b|f 17,701,825,087
4 ljsf; sf]ifx? 11,674,186,806   4  ljb]zL a}+s df}Hbft 162,091,415,061
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 3,500,445,071
6 ;^xL ;lds/)f sf]if 62,354,476,204   6  ljb]zL a)* 128,054,452,564
7 ;"grf¤bL ;lds/)f sf]if 4,480,191,137   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 91,874,381      -s_ :jb]zL 60,279,841
9 lgIf]k      -v_ ljb]zL 34,620
   -s_ g]kfn ;/sf/ 86,761,190,457   8  nufgL

g]kfn /fi^« a}°
  2072 d+;L/ 29 ut]sf] dfl;s jf;nft -ckl/is[t_

g]kfn /fi^« a}° P]g, 2058 bkmf 93 -2_ adf]lhd

a}lsé ljefu

   -s_ g]kfn ;/sf/ 86,761,190,457   8  nufgL
   -v_ afl)fHo a}°x? 91,980,224,268      s= ljb]zL ;]So"l/^L 205,375,259,075
   -u_ ljz]if lgIf]k 126,150,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 21,222,285,517
   -#_ cGo 90,105,015,000      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,423,761,888
10 e"QmfgL lbg"kg]{ lan 221,784,933      #= l/kf] ljb]zL -

     ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
11 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj 1,000,000,000   9  shf{ / ;fk^
12 P;=*L=cf/= af¤*kmf¤* 10,074,314,178      s= g]kfn ;/sf/nfO{ -
13 cGo bfloTj 67,961,186,390      v= jfl)fHo a}+sx?nfO{ 1,316,488,936

     u= ljQLo ;+:yfx?nfO{ 50,900,000
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,552,933,053
  10 ;"g df}Hbft 1,616,398,057
  11= cGo ;DklQ 26,966,049,893

hDdf OSjL^L tyf bfloTj 579,350,047,502   hDdf ;DklQ 579,350,047,502
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